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https://www.100test.com/kao_ti2020/618/2021_2022_CISCOCCN

A_E8_c101_618055.htm You work as network administrator at

TestKing Your trainee is configuring a router with both physical and

logical interfaces. He asks you what factor determines the OSPF

router ID. What should you tell him? A. The lowest network number

of any interface. B. The lowest IP address of any logical interface. C.

The lowest IP address of any physical interface. D. The highest

network number of any interface. E. The highest IP address of any

logical interface. F. The highest IP address of any physical interface.

Answer: F Explanation: The OSPF topology database includes

information about routers and the subnets, or links, to which they

are attached. To identify the routers in the neighbor table’s

topology database, OSPF uses a router ID (RID) for each router. A

router’s OSPF RID is that router’s highest IP address on a

physical interface when OSPF starts running. 100Test 下载频道开

通，各类考试题目直接下载。详细请访问 www.100test.com 


